HU?F\S 2 Panel Merkezi Kabin Kapisi Montaj Klavuzu
ELEVATOR DOORS 2 Panel Central Cabin Door Installation Guide

14 24
o
24 o
o] j. ©
Lojé ‘
;@'
' )
i
H—©
KAPIDAKI
GUVENCENIZ Sayfa1




HU=RNS

ELEVATOR DOORS

2 Panel Merkezi Kabin Kapisi Baglanti Seti
2 Panel Central Cahin Door Connection Set

Mekanizma ve Panel Baglanti Seti / Mechanism and Panel Assembly Kit

NO | Resim/Picture Adi / Name Adet / Pcs. Kullanma Alani / Using Area Aciklama / Notes
'S
&f/ﬂ 4 Ad. Panel Montaj
i ) Panel Aski Seti ) !
1 &{\@?\/ 4 4 Pcs. For Panel assemling.
2 M8 X 16 AKB Civata 4 4 ad. Panel montaji. .
4 Pcs. For Panel assemling.
4 ad. Panel Aski,
3 M8 DUZ RONDELA 4 ad. Panel Paten montaiji.
8 4 Pcs. For Panel Hanger,
4 pcs. Panel Shoes assemling
4 M10 KONTRA SOMUN 8 ad. Panel Aski montaiji.
8 8 Pcs. For Panel Hanger assemling.
. 8 8 ad. Panel Aski montaji.
M10 DUZ RONDELA
5 8 Pcs. For Panel Hanger assemling.
4 Ad. Panel Montaji
E PATEN 4 4 Pcs. For Panel assemling.
7 4 Ad. Paten montaji.
M&8X10 AKB CIVATA 4 4 Pcs. For Shoes assemling.
.” M6X16 AKB CIVATA 2 2 ad. Aliiminyum Esik montaji.
2 Pcs. Aluminium Sill assembling.
2 ad. Aliiminyum Esik montaji.
12 M6 FLANSLI SOMUN 2 2 Pcs. Aluminium Sill assembling.
15 M12X25 ZIPKA CIVATA 4 4 Ad. Konsol montaj..
4 Pcs. Bracket assembling.
4 Ad. Konsol montaiji.
16 M12X30 AKB CIVATA 4 4 Pcs. Bracket assembling.
8 Ad. Konsol montaiji.
17 M12 AKB SOMUN 8 8 Pcs. Bracket assembling.
12 Ad. Konsol montaiji.
18 1 / 2PUL 12 12 Pcs. Bracket assembling.
Her tirlii degisiklik hakkina sahiptir. AT Uygunluk beyani igin bizimle irtibata geginiz.
Subject to change without notice. KAPIDAKI Contact us for AT declaration of conformity.
GUVENCENIZ

Sayfa 2



